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I TR EREdEARE40 S ® AN %S4 ? (A) DNA (B) protein (C) starch (D) lipid

2.F #4738 A& i #t PCR (polymerase chain reaction) 447 2 bR 69 £ Z sk ?
{A) understanding double-helix of DNA (C) enhancing DNA seguencing technique
(B) understanding DNA synthetic mechanism (D) discovering heat-stable DNA polymerase

3. ERAS B mMken’) (0B KR P
(A) erythrocytes ) (C) neurons
(B} sperms (D) leucocytes

4. TRHMEEMAMU o TR THE Y
(A) Semi-conservation occurs during chromosome duplication.
(B) Gene is a short RNA sequence in a chromosome.
(C) A chromosome consists of proteins, nucleotides and lipids.
(D) During meiosis, the cell divides twice, and its chromosomes duplicate once.

L

. FFHM DNA ghdk » 8887
{A) double-helix structures
(B) The basic structure of DNA consists of bases, deoxyriboses, and phosphates.
{C) The bases of DNA include adenine, guanine, cytosine, and thymine.
(D) The ladder-like main structure of DNA is formed by nitrate and sugar.

6, BMACHEPE—FE ]l >#MAMH 70k AR —EUBl AAMAMBEMMY
(A) 100,000 times (B) 200,000 times
(C) 300,000 times (D) 400,000 times

T A B RLERE AR R AT EAYEIT34R BEAA
(A) the difference between active immunity and passive immunity (B) individual difference
{C) the capacily of antibody induction (D} the stability of vaccine

B. gL BT P44 & M 7 (A) antibody (B) histamine (C) lymphocytes (D) interferon

9. FTRHEMERRBSMML  TH IR
(A) an immune disorder (C) occurrence within minutes or hours
{B) non-specific immuno-responses (D) redness, swollen, heat, and pain

10, ABBRTREEN BHAM—HAREARE 0 EREEAN Y (A) epinephrine (B) glucagon (C) secretin
(D) androgen

S~ EEHE N (60%):
1. Most signal molecules
(A) are activated by receptors. (C) are secreted by target ceils.
(B) can pass through the plasma membrane, (D) rarely enter the cytosol of a target cell.

2. The following groups present correct match except
(A) Lung — stratified squamous epithelium. (C) Urinary bladder — stratified columnnar epithelium.
(B) Intestine — simple columnar epithelium, (D) Loop of Henle — simple cuboidal epithelium,

3. Which of the following match is incorrect?
{A) vitamin A — DNA synthesis (C) vitamin D - calctum absorption

(B) vitamin B - Coenzyme. (D) vitamin K — bleod clotting. z E H
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10.

it.

12.

13.

14.

The carrect sequence of human intestine is
(A) duodenum — ileum — jejunum— colon — cecum — recturm.
(B) ducdenum — jejunum —» ileum — colon — cecum — rectum.
{C) duodenum — jejunum — celon — ileum — cecum — rectum.
(D) duodenum — jejunum ~ ileum — cecum — colon — rectum.

The main function of liver in human include all of the following except
(A) synthesis of bile. (C) detoxification of urea.
(B) storage of glycogen. (D) production of plasma proteins.

ARBC is in an artery of intestine of a man. How many capillary beds must this cell pass through before it
returns to the left ventricle of the heart?

(A) one. (C) three.

(B) two. (D) four.

Which of the following statement about human lung ventilation is correct?
{A) The contraction of alveoli can ventilate the lung.
(B) We use the ribs and diaphragm to perform negative pressure breathing,
{C) The vital capacity of our lung is equal to tidal volume plus residual volume.
(D) We can ciose our month to make positive pressure breathing, which forces air down the trachea.

All of the following stalements about clonal selection are correct except
(A) Each lymphocyte’s specificity for an antigen is determined after selection.
{B) Each Iymphocyte recognizes and responds to only one aniigenic determinant.
(C) Each selected lymphocyte is activated to divide and differentiate forming effector cells and memory
cells.
(D) Each antigen determinant selectively activates single clone of cell from the body’s diverse pool of
lymphocytes.

Which of the following pairing is correct?
(A) interferon — cytotoxic T cells.
(B) perforin — natural kilter cells.

{C) immunoglobulin — helper T cells.
(D) interleukin I — antigen presenting cells.

Theoretically, an AIDS patient should not suffer from

(A) anaphylactic shock. (C) commen cold.

(B) hemophilia, (D) rhevmatoid arthritis.
Which of the following items is not involved intb circadian rhythms in human?
{A) superchiasmatic nuclei. (C). pineat gland.

(B). visual cortex (D). malatonin,

Prolactin participates the following life phenomena except
(A) metamorphosis in frogs. (C) fat metabolism and reproduction in birds.
(B) mammary gland growth in women. (D) regulation salt and water balance in salmons.

Which of the following statemenis about hormone is incorrect

(A) Most hormones are secreted directly into body fluid such as blood.

(B) Hormones play negative feedback regulation are called antagonistic hormones.

(C) Hormones function like chemical signals to regulate cellular activities within the body.
(D) Hormones may reach all parts of the body, but only certain types of cells have responses.

Which hormone exerts antagonistic effect to calcitonin?
(A) calmodulin. (C) epinephrine.

(B) parathyroid hormone. (D) thyroxin. : ‘k
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15.  Which of the following staterments about menstrual cycle is incorrect?
{A) It specifically oceurs in the endometrium of the uierus.
{B) It is divided into menstrual flow phase, proliferative phase, and secretory phase.
(C) The cycle length is about 28 days, and varies from one woman to another.
(D) It is regulated by FSH and LH, and continues from puberty to death.

16. What cause menopause?
(A) The ova supply is exhausted. .
(B) The estrogen production by the ovaries decreases.
{C) High level of progesterone causes negative feedback to inhibit FSH and LH secretion.
(D) Low level of estrogen cause negative feedback to inhibit FSH and L secretion.

17.  Which of the following materials is the major, but not direct energy source of vertebrate muscle cells?
{A) adenosine triphosphate. (C) creatine phosphate.
(B) sodium biphosphate. (D) cyclic adenosine monophosphate.

18. Which of the following statements about human sperm are correct?
{A) The major energy resource is glucose.
(B) Both spermatids and sperms are haploid.
(C) Acrosome contains mitochondria to provide ATP for sperm movement.
(D) When one sperm matures, three smaller cells form polar bodies.

19.  Which of the following receptor is incorrectly paired with the type of energy it transduces?
{A) chemoreceptor - gustatory. (C) mechanoreceptor - sound.
(B) nociceptor - olfactory. (D) infrared receptor - heal.

20, Which of following sequence about sound wave transduction from pinna is correct?
(A) tympanic membrane-incus-malleus-stapes-oval window
(B) tympanic membrane-malleus-stapes-incus-oval window
(C) tympanic membrane-malleus-incus-stapes-oval window
{D) tympanic membrane-stapes-incus-malleus-oval window

M AR HREREL THREEENLE  RAGS  ARTHAESIAR -

= - MEE (20%)
1. DNA methylation:

2. Alternative RNA splicing:
3. Homeobox gene:;

4. pattern formation:
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